1. Theaverage price of 80 mobile phones is Rs.30,000. If the highest and lowest price
mobile phones are sold oyt then the average price of remaining 78 mobile phones is Rs.
29,500. The cost of the highest mobile is Rs.80,000. The cost of lowest price mobile is? 20
80 HIATZE BT BT T 50 %5 30,000 & [Af Sfera SR T e @ HiaTge B a9 Ry
gfrffg\a’r‘m?sﬁmsaﬁﬁmmaqmﬁzg,sooﬁmglmﬁwq?ﬁmm e
aret AL DI BT % 80,000 ¥ | I qed W R A A Aawe o @) doaq qar 210
&2 »
(A) Rs. 18000 (B)

(C) Rs. 19000 Rs. 15000

(D) Can't be determined/fAf¥ad & &= Fad

|2=€ 't'|“ ’?h Company the average income of all the employees is Rs. 2000_0 per month. ...
ecently the company announced increment of Rs. 2000 per month for all the employees.”

The new average income of all the employees is?/ T& T & G FHAIRAT DI AT 3
Kl TET %5 20,000 ¥ | Tt @ F A ¥ W 2000 AR FERT B oy, W et A o
mﬁﬁmﬁ%|wﬁﬁmﬁﬁfaﬁa§sﬁweﬂu% e

(A)  Rs. 1,22000 (B) -Rs. 24000 (C) Rs. 28000 (D) Res. 26000 -

3. Pranav went to the bank at the speed of 60 km/h while returning for his home he
covered the half of the distance at the speed of 10 km/h, but suddenly he realised that he
was getting late so he increased the speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average speed of the Pranav in the' whole
length of journey is? Worg 4% 60 fait /et @ wie W 74T o fbeg =R m?ﬁmw
3l g 10 f5Hl /HeT Y TR R a9 @Y | s 9X o 5 9% o & <ET o at, S, ST

TS qgrE ok AT a9 g g% 9% a0 fdl/ver @ TR § @ @ gY WX UEW T, J O

g1 H Yorg 1 siad iy @@ off? '-

(A) 24 km/h/24 T, ufY st (B) 14 km/h/14 R Ry et
(C) 16 km/h/16 ft. aRr sier (D) 10 km/n/10 R ufty #ier

4. The average expénditure of Mr. Sharma for the January to June is-Rs: 4200-and he
spent Rs. 1200 in January and Rs.1500-in July. The’ ave‘rage”eXpe‘ndiltqre ’for'the'mpnth‘s
O?Februaryv to July is? AT B SHAY A S T BT e @I F 4200 € 3R T F 1200
ST 3 SR 1500 TS H @ FRAT & | BRI e T B AT BT ST A w?

(A) Rs. 2750 (B) Rs.3250 . (C) Rs.4250 (D) ‘Rs.4500- ..

i le present all shake hands with

: At the end of a business conference the ten peop :

Zach other once. How many handshakes will there be altogether? T& &TIR AT zr‘» 3d "% .
5 e T 10 Wl T QR W 1@ AR g fen #) ga fewy aw A e Cg

ﬁ?ﬂﬂx‘rﬂﬁg? B R e 'ﬁf

(A) 20 (B) 45 (C) 55 o (B) 90 ...

6 The average presence of students of a class in a College on Monday, Tuesday and Q¢
Wednesday is 32 and on the Wednesday, Thursday, Friday and Saturdef\y IS d30't ¢ t::e @
average number of students on all the six days is 26 then the number of students who

attended the class on Wednesday is? WIMaR, HTeldR AR ER P e H feniia @ &G

A Trw =6 l li/% 24
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@A) S0 (B) 40 (C) 60 (D) 70

: guresh started his journey from P to Q by his bi :
f+en; the same distance he travelied on his foot at tr?éssg'éfdacfft? 0 kih ?roo;g)tgrghﬁugﬁ
he returned from R to P Q\;{la Q at the speed of 24 km/h. The average speed of the ‘whole
trip is: g AT P W Q T O arger @1 40 FL wfY vier 1 R 9 gE B § A
mwzj{ﬂ?mwﬁﬁ‘ﬂ.ﬂﬁwﬁﬁﬁlQlﬁ,lem 47| g 98 R 9

P,Qa‘,m%ﬁ.ﬂﬁdﬂﬁ“ﬁﬁmWW% | g A @ s T @

(A) 185 km/h (B) 19.8kmh (C) ~ 18.2kmih (D)  19.2 km/h
8 Ramesh walked 6 km to reach the station from his house, then he boarded @ train
4 was 60 km/h and thus he reached his destination. In this way he

u)h’ose average spee
took a total time of 3 hours. If the average speed of the entire journey was 32 km/h then

theaveragespeedofwalking,is:Wmmﬁmﬁq@ngmsm_mm |
%aﬁaaw%‘%mﬁeﬂwnﬁeoﬁmﬂ.qﬁﬁégaﬁqagmw
%l.sﬂwfﬁwaﬁmdﬁmwﬁmémﬁqﬁmmaﬁnﬁ,
eﬁaﬁﬂﬁrszﬁﬁr;qﬁfaasﬁa‘rﬁaﬂwﬁ.aﬁaﬁwwﬁraﬁ: L

A) 5kmih  (B) gkmh (C) 2 b (D) akmh

9. Bala travels first one-third of the total di__s‘tancé at the speed of 10 km/h and the next
one-third distance at the speed of 20 km/h and the last one — third distance at the speed

of 60 km/h. What is the average speed of Bala? ‘aren arl @1 et <0 T TP frer 10

ﬁ?ﬁqﬁﬂaaﬁwﬁﬁaﬁqwﬁwﬁ%ﬁqﬁzoM‘.qﬁﬁaa&‘rﬁﬁeﬁ?mﬁu‘cﬁ
forerg 60 fpe, wf T @ R T P § | arer @ sl A w@ner .._k_,li_gﬂof,\g_x?o

(A) 18km/h (8) 19km/h - () - 16km/Mh - (D) SA2km/h - A

10.  The distance of the S,ch‘oolland house of Suresh is 80 km. One day he was late by lgg“
1 hour than the normal time to leave for the college; sO he increased his speed by 4km/h . 4
e at the normal time. What is the changed speed of Suresh?-

S 3 oy TR BeT

(A) ?8 km/h (B) * 25 km/h . (C) 20km/h (D) 24 km/h

lcl).es :\gga goes to College at 20 km/h and reaches college 4.minutés late. Next time she\ .
iQS 0 at km/h and reaches the college 2 minutes earlier than the scheduled time. What -
e distance of her school? aaT @feret 20 . Wiy T @ T § R 4 e e

g 8| STTel : -
glmmgﬁgﬁgﬁqﬁwzﬁnﬁﬁwﬁaﬁawﬁzmﬁw

(A) 16 km . (3) 12 km | (C) 15km (D) 10km
X _x & \ Sy L
Y R0~ [ = 1o 100 = v

: 0 ¢
W,{ 3 ‘
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r re 800 km apart from each other. Two persons start fro ‘R
. Two plaC‘?SteRr\f'ar;dofS Qahours. Whereas A leaves R for S before B. The speeds r:fz '
towards S atan /"f_: o 60 km/h respectively. B overtakes A at M, which is on the way frof
and B are 40 !m:he ratio of time taken by A and B to meet at M? <1 @ R alR S 7@
Rtos'%\igatlsﬁ S wfm RS aﬁaﬂ’\'ﬁﬁ%%‘i’a’rﬁéiﬁmﬁwﬂﬂﬁﬁ?l
& 800 §mR$WW%' 3R B 2

>

B R @ 40 @R 60 A wRy-der

?I?BAMSWA?#MWW%'G#%R@S%WW% IMWﬁﬂe{$ﬁ*{QA’§ﬁ"“\_"

g frer argama A T @ & 45
A 13 B) 12 © 114 D 32

o
Ya

i
3. Two places R and S are 800 km apart from each other. Two pefsons start fromffﬁ
tlg\}vards S at an interval of 2 hours. Whereas A leaves R for S before B. The speeds o(fﬂg
nd B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way frof:
;to s What is the distance from R, where B overtakes A? Q1 %eI. R 3R S T gH
o o g & | AR RS @ AR W W P e ¥ awd # | e A, R
o 5B B fore Fder 9 uget frned €1 A 3R B I 1 R @wer 40 ok 60
sHer el B, MWA@IM%WW%,GBT%RQEIS?%WW%'IGETWB,A%Q{?
frer o 8,8 R 9 foaf ghwg? - A
(A) 260km (B) 235 km o (C) | 240km (D) | 300 km‘ 5%

e h e 4T . ‘r.y-:

14. Ajay covers certain distance with his own speed but when he.re<.1uces 'his,§peeg’ "
10km/h, his time duration for the journey increases by 40 hours while if, he increases 44
speed by 5 km/h from his original speed: he takes .10 hours less than the original time
taken. Find the distance covered by him. 35/ T ¥ g st TR § TG PR %’Q‘\*
o d% A AR ¥ 10 e /ET o T S @ o SHe A R 40 0 98 S

2 10 vrer T i &1 R g A W g@ww T
(A)  1000kmff  (B)1200 km R (C) 1500 km (D) 1800 km f&t .

o . - - "ll'; - ~ 1'.4‘.', i SCEELE "'4.:v-| ﬂj-\a
" The dri mbulance sees a bus 40 f him, after 20 seconds, the'ous

15.  The driver of an ambulance sees a bus 40m ahead o , ale COl 18 uUs
is.60 meter behind, If the speed of the ambulance 1S 30 km/h (41 / 5ieT), what is the speed

¥l
. 2P
-, r r.“,,

LI R

¥

(A) 10kmh 7 (B) 12kmh - (C) 15kmh (D) _22*“‘?_”‘(;1',4;15:-{;

_ om n from B

its, nning towards each other, one from Ato B and ,anether s

tlf "A T‘E‘Q’f ‘cr?obsbsltcsaaséﬁrgtr#ér éf?ef one hour and the first rabbit 'reaches B! 5/6 _hoﬁr bef e
the second rabbit reaches A If the distance between A and B is 50 km, what is the spe '4

2w #1 i di8 W ¥1 7w A Y B o ol S B
Zf;;ee;l-\rorv:; gzsf?lfq;a:g\q% 7 q—f agﬁ e TR G ¥ SR vEel URNI B w, @%ﬁ/\‘ﬁ
'q‘g‘?ﬁ%s/edaqgaqgam%‘luﬁAaﬂ?BEﬁ‘sﬂﬂaﬁqﬁsoﬁm‘r.%a‘r%ﬂﬁ T 9

(A) 20kmh  (8) 10km/h (C) 15kmh (D)  25kmh xf* '
' : 4 ¥

Habidif. : W
Tdve.
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iy iy
ox ravy Eubargh, TLoals

3
() remaln'”g part of the journey trave|
part of journey did ing at 25 km/h. |
urney, 1 km/h’P y I?\» he travelled by auto if fthhee took 10 hours for the entiré
urney be Y e W i EI‘?I 'm[]'5'2'5 U ffRad W a@ 5 ), gf\;‘eﬁge %peed of the entire
g%mﬁ"%“}‘@@mm’mra?guﬁaaqﬂ

K
Pra nav walked at 5 km/h fo
f I certain part of the | journey and th
en he took an auto for
é
e oar &, @ A
Wﬁ?ﬁmmwmﬁmx}mm afy quf arn B

]%m 10
111‘?{17 fapey / T &7
4‘
Ay 750 km (B) 100 km
m ©) 150km = (D) 200km
{8 .1.5,.12,?‘41,87, 214
19 (B3 3 YRR
QA)', S o S (C) - 22 - (D) oG
g 147 13 475,2175 . R TN &
e T L A
(A_), 10, SRR (C) 125 (D) 1325 qu
\ A U o 7O . \0
9 9 o ) - o .
zo,, - .15, 5, 45 58,7. : Lo cL e ,—9_‘73
@A) O 6 (B) 11.42 (Cc) 12 23 (D) "10.74 WHD{%—
Zi- Flnd the sum of flrst 30 natural numbers %27 30 g{tﬁﬁmaﬁzmmmq? o
'.;A““”47O .‘ , (B) — / "468 * i ~-(C;)".' 465. E(D) 463 Sy
(7 _____ ) A (©) 483 L g0
3" 56%on|$182 Whatle'?YasTée%fHez%‘la’rerm%? s e T 00
‘ UG BIOE L S ennce -,Séo(;-,pgjzov
(A) -350 B .,3.5.4, ; CY 82 (D). 330
23 ““\Which of the fallowing two ratlos is greater 17: 18 and 10; 11'? aﬁﬂ‘r a’jm‘d‘f 17:8 aﬁ"\'
jo11 4 9 zﬁh Er@T’s" » | G2 :
(A) 17718 R (B) ETYEE
aﬁr vep, AT E ( Cannot determine. ﬁfﬁﬂﬁﬂ‘é’r mm
gople: 15 Guedts arrive

(C) -Both are, same,
Iable fpr 35 days for only 75 pe

ltself For how many days Wl|| these supplles be

24 4 [n 5 palace supphes are ava;

rthe palace for vacation on day 1
ufﬂcnent for all these people? T& I W 75 @Rl @’ forg 35 ol %
lWWqu?za%aﬁr?#f%ﬂ qﬁﬁ?ﬁmaﬂ%ﬁrsﬂaﬁ%‘t l ﬁv‘ﬁﬁﬁ"ﬁ?ﬁmﬁ%ﬂ‘iﬁ
'(Ff kil auﬁmm @ forg cra‘rna Tf?

- 2'2.5 days &

iA) 1190d3y8f'?{=f (B). 1125daysfé:r '(‘)‘» 42daysﬁﬂ ©) "

ifo If dlfference between Compound Interest &
ney’ fOF 2 yrs. @ 5% p.a. is Rs.122. Find the sum
Wﬁr W 5% FRiey TBgfE R RATROT @17 & 9

,_-,-) 'Rs. 14000 (B) Rs. 15000

L AR '

2 =SSt ¢~ oo b= *\Q«;’E\ :
o £

100

certam sum: of

- .
. .~ ti’

B ONE iy

-
o -

(N
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AsEAN Yosl;rtf%??%rqgt ﬂwném:fas bl from 14th - 19ty August, 2017 ;
dia e Y S L
2017 1771 bai C)B '

; WZO. i freel (B) Mum qag (C) hopal #urg (D) Chennaif)ﬁg

Sagar Parikrama’, Which wjj| 3

(A ot ‘Navika . _ Oommence in Sept
Under prOJQOCfficers of the Indian Navy would CIrcumnavigate the globéJ :nmber 201y
27~ ewomen * “oraw 2017 ¥ 3RH, e ' ; an Ingig,.

mof W ed: @ '
sjiifsail_b;;tqgﬁagﬁﬁﬁzﬁmaﬁm' IR R e Srorar @ "

¢ )NV sindhu ¥ () NSV Amba siar (D) INSV Tarin e

18, 2017, which Asian counlty launche its first cyber court specializip

on August 2s? 18 3R, 2017 & s
28 > -related cases: 017 1, forg uRrE
in hand“ngzé”tégzw gl ATga] AT 3R fdyy €7 A VIS g

) Japan ST (B) China =11 (C) South Korea clerr i  (D)Thailand erere

On August 18, 2Q17, Poyver G(id Cf_)rpgrat.ion' annouﬁced that it will get 'a |0$n of
5500 millon from which international financial institution for its various projects? 18 &
2017@@%%#1%?@%%@%&%% % P o
(A) Asian Development Bank TREA ST 5 (B)World Bank R $5 . -

(C) Intemational Monetary Fund TSI G qﬁ (D) New Development Bank = Saeric

30, Who among the following cricketer has continued to be the world's top-ranked One-
day batsman in the latest ICC ODI rankings, released in Dubai on August 18, 20177 18

ST, 2017 1 ga § ) TAaE o A v Ry sk T § e A | @i @
(A) ViratKohli fRre @eeh (B) David Wamer 3fi R
(C) ABDeViliersy & R fafemd = (D) JoeRoot' " WM Wwe
31, Who among the following has won a silver medal in the javelin throw at ;he'ﬁrst World

2 e, Raewrds 4 g T

Para Athletics Junior Championships in Nottwil, Switzerland?

e YR oo R SR R 3 9 ey e et ) SR 3 T 9@ S ?

(A)  Prince Ahuja fiig SISl f (B) Ja‘tin_de.r‘Sihgh-\"rr'f?‘ﬁ'i' R,
(C)  Prakash Jaishankar wrarer ireies (D)  Rinku Hooda Ragest

,,,,,,
U

‘ s e ' S AF i 3 ', bi"
;?{w'd- Requisitioning & Acquisition of Immovable Property (Amggggxeggﬂrl{tzp%bfe at
ding for amendment to the regulations governing Cor|np§\?ernment was introduced in

the time of acquisiti . tral g

quisition of by the centr i that camé

the Lok Sabha on Jul 1gn rgg;/ $b$hPrO§ﬁTg ax amendment 10 thie original & 2017"

Into force in: e g ;e D) ' f g G Pl
. Ry @ W

T , @1 Iad
mﬂﬁ'm;gmmgmzow EﬁWﬂmaﬁg%ﬁm i
mmﬁmWWWgﬁrmggWﬁWW? s Wé’
B
o Dae,
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33. A bill provid_ing for settin
was introduced in tﬁg of the India

e —

el #F, AN Lok § N Instityte

ra o? 7T S S Oy 15, 2851 2 ey
T — : , 2017

() Punjab T . e e b o g e

(C)Telangana T ((D)) Haryana |

Andhra Pradesh sy BER

34. .
gﬁa}qa%m,wﬁu‘izﬁﬁ@ Nction of speci

A) Kiwi A1 Nl BT ey ch‘c‘r?sS‘\rSrug to man's intervention is ®™d
( . .

(C) Przewalski's horse Yaerad! sy (B)  Dodo3rey

(D)  Bustard geers

35.  Which of fqllowing utilises sunlight ; _ |
ﬁﬁm@ﬁﬁﬁﬁmﬁm%\? ight in a direct fashion? fr= ¥ & a1 g@ & wHTd D

(A) .. Photo voltaic cell srcﬁm AT Ay (B)  Sol
;o ducti ar thermal cells € &S A
(C)-. Bio gas production Wa N Sy (D) Both A& B 2T A & B

36. In ‘Internet’ term WWWW, the 4™ W stands for Sexie Tt 3§ WWWW, & DT W S
1 i ’

(A) Web | (B)  Worm (C) ‘Wreck D) Wsik
37 |Pv6 addresses have a size of:  IPv6 Tl b1 EES &

(A) 64bits (B) 128bits  (C) 256bits (D) 512 bits
38, The Constitution of India recognises: AR W{AET T CLIRE |
(A)  Only féligious minorities Sdct TG JTIHEIH BT |

(8)  Only linguistic minorities Pdel WD EQl o
(C) .~ .Religious-and Linguistic minorities Eﬂﬁﬁ?ﬁ AR e FeTEEID] B
(D) - Religious, Linguistic & Ethnic minorities ,

" During whi i 's rule, number of Hindus employ
39.  During which of the following Mughal Emperor’s rule, _
by Emperor's Administration was the highest? ?W CUCIRISEIC ORI RN 3} TD
(A) - - Humayun §91g, (B)  Akbar 312‘:\)? '
(C) . Shahjahan gsTet (D) Aurangz ke
40. .l-;.;.'ll'he Mansabdari system introduced bY Q%(t;%f 2\1.1{\/6\_'5 borrowed from the. Sys
followed in/sreaR gRT % # X rHereEgert B -

(B) Turkey T

(A)  Afghanistan e ol
(C)  Mongolia wmferm (D) Persia

Hasdsb,
Dale.

Scanned by CamScanner



41.  Who among the following is said to have witnessed the reigns of ei
Sultans?ﬁwﬁﬁﬁaﬁﬁﬁﬁ%gmgaﬂﬁaﬁﬂ?aﬂﬁmmﬁmm ? -
(A) Ziauddin Barani Srasgds &=+ _ (B) Shams-i-Siraj Afif TRI—3— RIS 3D
(C) Minhaj-us-Siraj fAsoi—g iRt (D) Amir Khusrau '

42.  The President of India referred the Ayodhya issue to the Supreme Court under
ferst & afcrta AR

which Article? ¥Ra @& wreufy & s a1

ST o ?
(A) 143 B) 132 (C) 138 (D) 136
43.  Right to privacy as a Fundamental Right is implied in L RIRNIICIN @

IBBR & Fu F aef T &
(A)  Right to Freedom & &l 3ifoidR DN N

(B) Right to Life & Personal Liberty offa aitv fioft zameherr @1 e

(C)  Right to Equality T &SI AN

(D)  Right agginst Exploitation ooy @ faeg AffeR :

44.  The interval between two sessions of parliament must not ce;XCe?d W )
(A) 3months@E (B) 6months@E  (C) 4 months TS (D) AEPEE
45.  With reference to inflation in ndia, Wwhich’of the following_ statements. is correct?
Hﬂﬁﬁgmn%ﬁra%ﬁzﬁﬁ,'ﬁmﬁfﬁ?azﬁwﬁ“ﬁﬁ#wmmﬂa%? o
(A)  Controliing the inflation'ir India is the responsibility of tﬁg—’ Government of india only
(B) The Reserve Bank of India has no role’in controlling the' inflation RSTd ﬁ‘cﬁefﬂfﬁ
(C) Decreased money circulation helps in controlling the inflation Ecdl qaT, RO,

(D) Increased money circulation helps-in controlling the inflation qedT T R,

@1 Frifa &var @
46.  Which of the following: brings out the ‘Consumer Price Index Number for |ndﬁ's{rié|

Workers'?ﬁﬂﬁ@rﬂﬁﬂ'WWEBWWWIWW’W%?

(A)  The Reserve Bank of India Rord o offp SR

@) The Department of Economic Affairs anfie AWl BT 39T

(c) The Labour Bureau %@ &R1

(D)  The Department of Personnel and Training ®1f& Td URerr fawmr

100 days &

47. ‘Golden Revolution’ is related to el FIftr FERg & DI LT o TeRE
(A) Precious minerals Sg7cY afe " (B)': Pulses TToi _ AP

(€) JutesF (D)  Horticulture sTTaTh Y
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t
ﬁgh to b R o mposed by the International Monetary Fund
B) as to borrow to make interg Y 7
( Tl gPr St payments on Outstanding loans a8 I&rT 01 &I
c) It has been refused loans or ai _
© @ forg A1 fBar S et @ Faid by creditors abroad faady st ZRT T AR AT

World Bank i
() The charges a very high rate of interest on outstanding & new loans

Faed 3 T SR TO ol X 9 Tt 2 e r g &

19.  With respect to GST, consider following statements GST & sy 3 ey Tl TR AR &%

Reduces cascading effect amus yrg 5 q Prar 8

Is a comprehensive indirect tax 98 & sgcaer eaue aw |

Aimed at forging a common domestic market a4 Eﬁ\’q TR @ AR B BT el ¥
Alcohol and petroleum are exempted from GST &Rt @ik dgie @ GST-# e Wl &

(A} 1,2, 3correct¥dar g (B) 2, 3correct W & |
(C) 23,4 correct W&l & (D) Al the above are correct ¥4 @&l ©

»wn o

50. India’s current account deficit in Balance .of Trade is mainly due to {Rd D ATIRITR
T AR Ffd @ et qod BT AR F g oy W HAWBRTE o o
(a).Increasing imports of oil.and petroleum. def W&;ﬁmﬂa% AT, Agfe o
(6) Increasing imports of gold and silver &I 3R ot & A A gflg ‘
(c) Increasing imports of food grains e AT @ I H gfE et
(d) Increasing imports of iron and steel w1§ 3R F¥IT % omma ¥ gfEg .

-
s

A (@) bandc) (a) and(
O @t D). (a)and(

G

M

N B}
RN

51... .. .Find the minimum number of straight lines required to make the given figure.

SR R 77 iy @) g @ o A e e e P saear g

16 ® 17 . (C) 18 () 19
Dal/e.

(A)
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. s-yres best depicts the
following tng;_g ey p relationship among criminalg

Vwchdjlfjdtge?ﬁﬂmt AR &R A @ G @ e B

& th|9\/es a’/"fﬂ &7

OOOQOO@D

(d)
" 2 ®) : © .c .. O .d

53 Find the number of t‘ria‘ngles in the given flgure

mow B D@ % O

54. Of the following two statements both of which cannot bé true but both can also be
lse. Which are these two statements? 7= A Tt #F A S I DA T =r€r B e
§ wig < o o B wﬁ% \ag?ﬁ'vﬁzﬁmﬁﬂ%t%? etk s

| All machines make noise et 7 TR Eﬁ?ﬁ’! % A
Il. Some machines are noisy. 5B A TR Bl & " )

IIl. No machine makes noise = - g Ay A AR A W‘cﬁ g s

V. Some machines are not noisy BB M IR TWaNE

A1 &I ® W&V ©). & . (D) u &IV . reos

55.  Insert arithmetical S|gns in the eqUatlon for it to be correct 842= 16 |
8 4.2 =16 WA B TEl DR mﬁwﬁ%ﬁmmﬁm%@ﬁaﬁﬂmm?
(A +x (B) -+ (C) - ** (D)

56.  If afg 84x13=8, 37x13=6, 26x11=6, then ar 56x22=7
A 3 ® 5 © 1. ® e

. Q‘ 10
Tadle.

.
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571' o'ff g+gj.eans divide, x means —, + me '
value +4-8x2 AR + BT a7ef ans multiply and — means plus, then find the
[CEINES
ot 9+3+4-8x2 .Xiﬁreloi-,+?513mgvnaﬁ’z—7ﬂijhﬁ§1
. D
. Flod ;hretrgf’“ term of the sequence 1, 8, 4, 27, 9 O ¥ g e
RIS \l-’ 1'5’ 11__1—' 33 ,3’1—' 21} & %4 farard r
8 B '
(B) S (C) 64 (D) 16

(A)
59. David divides 78 by half and ad

d
o 3 T D 11 Gﬁsm%’ﬁ\T31_613“”5-11.\'Nhat num?berhe gets at t

(A) 50 (B) 447% (C) 167 (D) 83%
hat was the least

In a knockout football competition 23 teams participated. w
“uHtm—anse’ Bead

he end? Sfds 78 P

60.
number of matches they needed to play to decide the winner?
gﬁmﬁﬂﬁzsaﬂ’fefmm |ﬁaﬁﬁﬁﬁmmﬁwaﬁ$mwﬁﬂ%ﬁﬁﬂ
gar T 7
(B) 21 (C) 22 (D) 62
nds of

(A) 11
61. At half past 5 in the evening, the smaller angle between the-hour & minute ha
aﬁa@ra#aéaﬂ?ﬁﬁa%aﬂﬁa%ﬁﬂmma e

a clock is 2T @I 5.30 9.
A 10° ®) 12° ) 15° o) 18°
62.  Fillin the blanks & ¥ 4RT : BA_BA_BAC_ACB_CBAC
(A) AACB @) . BBCA - (C) CCBA .- (D) CBAGC
63. Anglesofa given triangle are in the ratio of 2:3:4. What kind of triangle'is the given
triangle? &g T FreTeT ¥ YU BT AU 234 T a7 e fd R, P11 27
(A) Right-angled gqgeer “x(B) Obtuse angle 31fdrs BT
~ (D) Acuteangle L1 PI0T

(C) Isosceles FAfgaTg BT
road going north-south, A’s being on

64, The houses of A and B face each other on a
the western side. A comes out of his house, turns left, travels 5 km, turns right, travels 5
B does exactly the same and reaches the front of C’s house.
P TR IaR—

km to the front of D’s house.
In this context, which one of the following statements is correct? A 3IR-B
e e fera & o A @1 R ufde® @

<o 2 AR T g U 6eP R TP TR B

3R 8 IAWW@WW%‘,WWa5m.aﬁwm%,mg$m%eﬁ?D$
W%Waﬁsfﬁfﬁ.ﬁwm%Bﬁragﬂéwé’rmﬁeﬂ?c%ma%ﬂmﬁqgﬂ
S & | g @@ ¥ fre 4 9 B W T e 8

(A)  C and D live on the same street. C @ik D U6 & WSF W V& &

(B) C's house faces south. C @1 =R Zfeorged &
(C) Houses of C & D are less than 20 km apart. CAR DS &R 20 AT A A QW W g

(D)  None of the above STRIa i g A

- Hardip
Dale.

11 , ﬁ
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e5. BEH,DGJ, (7). EJO, GLQ, INS, ? £y '*';é
() FLR (B) FIS (C) FKO (D) _‘FIL 5 ,;
6. HV,GTFREP? SRR
(A) KL () D.N (C) C,D D) LK o
67. 4.3:10::8:7 _ . K ) 2.5}
A) 10 (B) 13 ©) 17 o 4 B

If TOUR is written and SPARE is writtel
68. as 1234, CLEAR is written as 5678% LEAR 25’1 56764 R

as 90847, find the code for CARE aft TOUR &1 1234 foram Sirdl
el & 3k SPARE @1 90847 forar irar € o CARE &1 #rS q?nzb‘{f ?

(A) 1247 (B) 4847 (C) = 5247 (D) 5847

)

0

69. CALANDER is coded in a code as CLANAEDR. Find the code for CIRCULAR
under the same rule. Jidfas W § CALANDER aﬁ CLANAEDR ,%'@T GﬂﬁI % lgﬁ]
FrEER CIRCULAR &1 forar wmg: IR Oy L
(A) LACANDER (B) CRIUCALR _ e S
(C) CLANADER (D) ~ None of these Swira # G ot
70. () Either he is happy or he is poor a1 ar % igﬂ 2 o e 11-@—5[ % I . ;
(b) He is happy. I8 G &- | ORXR . e ATy 2
Inference : He is poor. 3137-{17-[ _ajg m?rzt % 2 PR ‘:
(A) The inference is definitely true aquFI Tﬁ?‘m '\“IFH % POy T T LS DG
(B) The inference is definitely false SrFA qoia: 3T §-2 T R A ?)
(C) The inference is probably false or true 3T HHaT: Y T A . - ’
(D) The inference can not be drawn 3rFATT el FreT ST el % : H{
71.  (a) Those who are honest are good teachers. il '&‘FHT:’R ‘a’lﬁ % ?fr ?ﬁ@ ﬁmas g‘r%f %‘1
(b) Hard working people are honest YT, A SRR B R T :
lnference Hard work is the necessary quality of a good teacher. “enangl _ f
(A) The inference is definitely true 1A ‘I"m e % i H A
(B)  The inference is definitely false o Tl @ & e oA
(C) The inference is probably false or true AN THIG: IEE T ﬂaq -g e T {3
(D)  The inference can not be drawn A e e o weaw g obl ol
‘,.?

72. Based on the followin statements, which is the correct
. s et & s 27 conc!usmn drawH:

R 3 f the club. Many of the m o i 3
Onl m me members of thé € Ny ot the mem
nly gentlemen can become ted for dinner. DT oo bers. of the club a

officers. Some of the officers have been invi N 038 Fo1q &
smmmmmﬁwmg'mm'%”mﬁ“ﬁ%wmm

( AII the members of the club have been invited for dinner Fg & Wy S -ﬂﬁ
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(B) Some of the office
¥ rs
(C) Allgentlemen g ar:1et>not 9entiemer,
(p) Only gentlemen BV b ©rS of the G ey -

lub w
T een Ny :
r%ammm%“m%

: invite ,
G d for dinne

73.  Inafamily there grg
invited to a dinner. Botp, SOT,USband Wife

¥

. ONs went » Wo song 5
}Vas at home? T% uRar ¥ afy nt out to Play. HUSQ:ntc\jNo daughters. All the ladies were

i ot | A T e Qe ‘TQ Q}. F‘rqﬁga ak <y o %id not return from office. Who

(A)- onIyW|fe_wasathomé‘Er‘%a“erq;ﬁ Wﬁ%“ﬁm |mq¥mﬁqzm? W
(B) Allladies were at home wwy q%m’g“\' W of [ 2
(C)  Only sons were at home ey o a:‘"q_\lwﬁaﬁ -

(D) Nobody was at home R % TS TE o

2Pz T E P A X B oy gy O 8 QR Y a2

A) P is maternal uncle of A; P, A &1 W% ,

(£ aLunce ol AMAMTE (B):F‘?;andYaresisters;PSﬁ'\’Y?ﬁﬁi%‘
(C) Aand P are cousins; A@?Pﬁ%q@% (D) None of the above; 3 ¥ FE &

75. There are 5 books A, B, C, D & E placed on a table. If A is placed below E, C is
placed above D, B is placed below A and D is-placed above E, then which of the following
books touches the surface of the table? & #9 & 5 Tw® W 7 € IR AR E & =
G AT C B D D HUR G WAl §, BHA P Y @ TR-E,.D BE & SR @M W

R BN TS A B A B Bl B2 BACD
n C BB G A D) E e
76.  ‘Todecamp’ would mean: | B f
(A) “Toremovetent " " (B)“Toevictcampers

(C) Todecrease pressure "'~ (D)" T o leave suddgnly' o

?7. Which pair is wrongly matched? R o

%‘A) Discreet : Separate (B)  Gamut:Wriole

[C) Exacerbated:Increased (D) Allude :Escape

78.  Identify the cofrect pair: _

A) . Elude ; Dodge . (B) .Alude:Escape

(C) ~Forbear ~ - - (D) Latter : Afterwards

i&..9-_ A ;;;igvil’s advocate would be: - -

&) Aneviiperson . "’ “(B) A counter argument presenter
ig) Advocate of a criminal (D) Unregistered advocate

= e
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H Satish heard it from the horse’s mouth means:
a

m an authoritative source (B) From a close friend
(A) E{gm the closest family member (D) From his boss

(C)

81 SatISh is Seated SUmta' B |
(A)  Besides (B) Beside (C) Clearly (D)  Closest
g2. Identify the incorrect pair: A

(A) Moot :Debatable (B) Singularly : Individually

(C) Regimen : Prescription (D) Sever : Detach RRIRRTEY

83. ‘I haven't studied a lot lately’. Here, ‘lately’ isafan -~ ... -. o3 i,
(A)  Adverb (B) AdJectlve = (C)  Noun (D) Prepositia_n

84.  Which sentence of followmg is correct’?

(A)  The flowers was arranged carefully.  (B) ' - The meeting start promptly at 1100.
(C) Computerssavetime. .. .. (D) Lightning stnke mdlscrlmlnately

85.  ldentify the incorrect sentence:

) None of the minutes Waswasted. =~ - Tl T
(B) None of the time was wasted.
(C) Is any of the pizza left?
(D)

...............

None of the above. SAVDENET W

..............
\\\\\\

86.  Among the two statements: .
(i) Either Satish or Sejal takes out the garbage

(if) Each of these prescriptions -have side effects. - iy e '
(A)  Both are correct S (B) () is':cbrfedf;"(ii)vié incorrect ™
(C) (i) is incorrect, (i) is correct (D) Both are incorrect.

87. Choose the sentence that has- lncorrectform of words: TR AR O R

(A)  When will you bring you'r'e pictures. {6 Work? - e e
(B) ltis your responsibility to go into details. R S -«

(C)  If you're planning to attend, do let me know T G e e
(D)  None of above. : Lo Lo e e
88. | her speak on Friday nlght about the advantages of orgamc gardenmg
(A)  will have heard (B)would hear

(C)  would have heard .. (D) .wilthegr
89.  Choose an incorrect/incomplete sentence: . bt

(A)  The children in the park, including all those an the swings.
(B)  Sarita is an excellent school teacher. .

(C)  She couldn't believe the premise of the story.

(D) - I'saw Dr. Ghosh because Dr. Khan was on leave,

Havdih. “
Ddl/e.
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90.
(A)
(C)
91.
(A)

92.

(A)
(C)

93.

(A)
(C)

94.

(A)
(©)

95.
(A)

96.

(A)

(D)

What is not correct if ‘nest is to bird'?

Hangar is to aircr
aft i
Orchestra is to music g; \V/\?irL]Ig '.2 12 rg\oney
ees

The exact opposite of ‘Lascivious’ would mean:

Devoted
e (B) Chaste (C)  Fluid (D) Manifest
‘Repercussion’ would mean:
Reaction

. . (B) Concussion
Recollection LI (D) Clever reply ::i

to go out to an Italian restaurant tonight?
(B) Are you liking

Do.you like

You like (D) Would you like
, Excuseme, ____ - time please? “ . | ,
You have the - < (B) What is
(D) What

Have you got the

He likes reading. He was a
Anxious (B) Enthusiastic  (C) Voracious

| remember my sister taking me to the museum.
(Choose the best fit among the alternatives)

| remember | was taken to the museum.

| remember being taken to the museum by my sister. = .
| remember myself being
| remember taken to-the museum by my sister.

“To make a clean breast of means: =

To gain prominence
To confess everything

“To be above board” means: B
To have a good height (B) To be hones.t
To have no debts (D ‘T,o be beautlfql

That which cannot be corrected means:
Unintelligible “(B) Indelible
(D) Incorrigible

llegible
w govem the many is called:
(B) Oligarchy

Monarchy
Plutocracy (D) Autocracy

lardip -
Dale.

State in which the fe

(

reader. (Fill in the best fitting word)
(D) Fervent

taken to the museum by my sister.-

28, %

,,,,,

R (B)..To.praise-oneself SNCIICINS
(D) To destroy everything

B |
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